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, 4 and B are mdependent events such that P(A4)=025 and P(4UB)=055.

Find P(B).
OD stk 7

PLACRD = PUA) «P(B) - P(A~E)
U P(AAR) = P P(R)

)9 = P8) = x

0.2¢ +2x - 0-2§z = OS_S_
O-7¢x = .32
x - Q'_3 =
o775

» A bag contains the following cardboard shapes:
10 red squares, 15 green squares, 8 red triangles and 12 green triangles.
One of the shapes 1s drawn at random from the bag.
E 1s the event that a square 1s drawn.
F 1s the event that a green shape 1s drawn.

(i) Find P(E~F).
(ii) Find P(EUF).

(iii) State whether £ and F are independent events, giving a reason
for your answer.

(iv) State whether £ and F are mutually exclusive events, giving a reason
for your answer.

IO ES IS ¢S ¥ RT 2 ¢ T
v = £ = lo+ris = 2T
Cosen = F = (S +12 = 27
T. L0 > 4+1C +% + 1z = &S
PleaF) = C s A YR
kL bY =

EKCER .
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Two events £} and E; are independent. P(E,) = é and P(E,) = % Find
)  P(E,NE))

(i1) P(E, VE,).
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